No.

NI = Vvl
OB E B E
PA /X—=T5
-1
& B G S H = AL o =
RIE (0.5+1.0) X (0.5+1.0) X 0.8 X 4 m3 7.2
HERE 7.2-0.6 m3 6.6
(0.6X0.6X0.1+0.25 X 0.25 X 3.14 X 0.6+0.05 X 0.05 X
R 3.14%0.1) X 4 m3 0.6
JEEEIE 0.6X0.6X4 m2 1.4
BTy =T
FHnfE (RC-40) t=100 0.6X0.6X4 m2 1.44
MR K ¢ 500 i Y 0.6 x4 m 2.40
)= 18-8-25 0.25%0.25X3.14 X 0.6 X 4 m3 0.47
ZNN T —iR L = 1
[ _E#RAt 1 = 1
VA 2 1 % 1




No.

OB E R OE

TS-1 IS EZAE—1 (FEAZL)

10 #H%4Y
& B G S A =2V AL W =
KALE ¢ 60~70
LA IPIVN L=1800 2% 10 i 20
KAPE ¢ 60~70
A IPIVN L=600~700 1X10 i 10
S A TRR D12% = 1.0




No.

OB E R OE

TS-2-250~400 I 5B A — 2 (FRAS)

10 #H%4Y
& FR HO% A =2V AL W =
KALE ¢ 60~70
LA IPIVN L=1800 2% 10 i 20
KAPE ¢ 60~70
A IPIVN L=600 1X10 i 10
KAOLE ¢ 30~20
AKX 1=2500~400  1X10 PN 10
E A TR D12% = 1.0




No.

oKL B
TS-3 =& JE A
10 #H%4Y
& B G S H =2V AL W =
KOLE ¢ 155
LA IPIVN L=1800 3% 10 i 30
KOLE ¢ 15N
A IPIVN L=600~750 1X10 i 10
AE A TRR D12% = 1.0




No.

OB E R OE

TKS-1 I EH A i —1

10 #H%4Y
& B G S A =2V AL W =
KOLE ¢ 155
LA IPIVN L=2000 4% 10 i 40
KOLE ¢ 15N
A IPIVN [=750~900  4X10 i 40
AE A TRR D12% = 1.0




No.

BOEL B
TKS-2 “HIEEHEH XE—2
10 #H%4Y

& B G S H =2V AL W =
KALE ¢ 60~70

LA IPIVN 1.=3800 4% 10 i 40
KAPE ¢ 60~70

A IPIVN L=1800 4% 10 i 40
KAOPE ¢ 60~70

APV L=600 4% 10 i 40
KAOPE ¢ 60~70

APV =900 4% 10 i 40

AE A IAERF 8% = 1.0




No.

OB E R OE

MS-1 AN FTHE—1

10 #H%4Y
& B G S A =2V AL W =
KOLE ¢ 605
LA IPIVN L=4000LL = 13X10 i 30
KOLE ¢ 60~70
AIPIVN L=600 3% 10 i 30
AE A IAERF D8% = 1.0




No.

OB E R OE

MS-2 AN THE—2

10 #H%4Y
& B G S A =2V AL W =
H R ¢ 6095
LA IPIVN L=2000 3% 10 i 30
KAPE ¢ 60~70
A IPIVN L=600 3% 10 i 30
AE A IAERF D8% = 1.0




No.

OB E R OE

BS-3 71 /\# XA
10 #1240
% B O i 2 BT % &
12K L=1600L/
r - 3% 10 i 30
" 12K L=700 3X10 i 30




No.

OB E R OE

BS-1 M1 —A& AL
10 #H%4Y
& B G S H =2V AL W =
r 1243 1L=1500 1X10 P 10
AE A TRHR D 15% = 1.0




No.

OB E R OE

KS A 38
10 m34Y
& B G S H =2V AL W =
KO ¢ 45
LA IPIVN L=2100 102 i 5
Ty 123 1=6000 10X2X1.05+6 Vi 4
AE A TRR D12% = 1.0




